Quinnox Model Paper Questions

Ql)adi _ vy

ANS: (p)

Q2)Jazdy hx m?

ANS: (W)

Q3) The fathers age one year back is 4 times the age of son,after 6
years the fathers age exceeds by 9 of the twice of the son,fathers
age?

ANS: 33

Q4)L 3 7 15 ?

ANS: (31)

Q5)3 4 8 15 31 ??

ANS: (56)

Q6)20 14 8

10 5 10
5 ? 3
ANS: 4

Q7) You have analytical reasoning which is easy for 6 to 7 marks
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Q8) English paragraph in Vth section this is easy

Q9) Verbal ability in 4th section

Q10) Questions regarding condition statements( 5 to 10) example
x>=y && y y>z?? true false or ambigious

Q11) a*b=24,b*c=24,b*d=48,a*d=32 then a*b*c*d?

Q12) In triangle AB=BC ,then which is false

A. AB>BC+AC
B. BC>AB+AC
C. AB+AC=BC+AC
D. AB+BC=AB+AC
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